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(a) 21 3

( 1)
2 4

p
y x= − +  K1 

8p = −  N1 

 

(b) 24 2( 1) 3( 8)y x= − + −  K1 

21 11
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2 2
y x x+ = −   

1

2
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2
c = −  N1N1 
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2 (a) ( ) 3 1m x x= +  N1 

(b) (i) 23 ( ) 1 10 3n x x+ = −  K1 

2( ) 3n x x= −  N1 

 (ii) 23 6 37k k− = −  K1 
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5 (a) 50 8 (50 1)(3)T = + −   K1 

       =155  

 ( )50

50
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2
S = +  K1 

 = 4075  N1 

 

(b) 
19000

95
200

Length = =  K1 

 8 ( 1)(3) 95   n+ − =  

 30n =  N1 

 Warna biru N1 
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6 (a) 
3 2 2 13 5x x− −=  K1 

 10 10(3 2) log 3 (2 1) log 5x x− = −  K1 

 x = 7.643  N1 
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OR    y = 2(20) + 6  

          P(20, 46)  

2 2
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   
− + −   

   
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t
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1
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−
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2
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11 (a) 22 72x y =  K1 

2 216
4L x

x
= +  N1 

(b) 
2

216
8

dL
x

dx x
= −  K1 

2

216
8(4) ( 0.2)
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dL

dt

 
= −  − 
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 K1 

2 13.7
dL

cm s
dt

−= −  N1 
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12 60  or 1.047  P1 

( )
2

1

1
2 sin 60

2
A j=  or ( ) ( )

2

2

1
1.047

2
A j=  K1 

( ) ( ) ( )
2 21 1

2 sin 60 3 1.047
2 2

j j
 

−  
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 K1 (A1 – 3A2) 

( ) ( ) ( )
2 21 1

2 sin 60 3 1.047 10.35
2 2

j j
 

− = 
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8.015   8.018 N1 
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13  

(a) 1.274BCA =  P1 

11.11 11.11 11.11(1.274*)Perimeter = + +  K1 

36.37 N1 

(b) 73 / 0.5935 39 / 0.6808BCE or DCE =   =   P1 

 

Luas  : ABC = ( )
21

19 sin34
2

 or    BCE = ( )
21

11.11 sin34
2

 

OR 

Luas sektor : 

BCE = ( )
21 34

11.11
2 180


 
 
 
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11.11
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
 
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Luas segment : 

( ) ( ) ( )
2 21 1

11.11 0.5935 11.11 sin34
2 2
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21 1
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2 2
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−
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5
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2
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y
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2

r y=  N1 
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(b) (i) 3

4 16(3 )T =  K1 

     432=  N1 

 

 (ii) 
16(3 1)
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n −
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−
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     > 7.956n  
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